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LAMP[RAN 1

Tahap I

restart;
with (simplex) :
pembatas:={x1+x2+d1>=10,2*x1+3*x2<=30, 6*x1+4*x2<=60};

pembatas = {10 <.x/ +x2+ 1,2 x1 +3 5230, 6./ + 462 £ 60

sl
disply (pembatas) ;
disply( {10 S0/ + 02 41,200 1 30230, 6 07 + 442600
minimize (z,pembatas, NONNEGATIVE) ; .
=0¢N=OVH210}

Tahap II.

restart;
with(simplex):
pembatas:={x1+x2>=10,x2+d2>=7,2*x1+3*x2<=30,6*x1+4*x2<=60};

pembatas = {10 Sx) 02, T<x24d2,26/ 4 302530, 607 1440601
z:=d2;

o=

W10 33,7550 15,3 71 4 3 3 <30, ni 40601
minimize (z,pembatas, NONNEGATIVE) ;

{f2=0,x]=3,x2=7)

Tahap III

restart;
with (simplex) :

.
r

pwﬂmMs?{IOSX/+L&7Sx&SSXJ+di2x1+3x2£3&6x!+4x2$MH
z:=d3;

=3
disply (pembatas) ;.

dmmﬂ{10<r1+t27<\285xl+d12\!ka\25306r1+412<6ﬁw
minimize (z,pembatas, NONNEGATIVE),

Y

v = =1
{x2= 7d?- .."—,)

f

th--!
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pembatas:={x1+x2>=10,x2>=7,x1+d3>=8, 2*x1+3*x2<=30, 6*x1+4*x2<=60}
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Lampiran
LAMPIRAN 2
v » Tahap I
P>
! > restart; ‘ -
i > with (simplex) : S
©> pembatdsi={x1+¥2<=1000, x1-x2+d11-d12=50} ;
| pembatas = {x] +x2 S 1000, 57~ 52+ dl ]~ J12 = SO
;> z:=dll+dlz;
SdH ]
. > disply(pembatas) ;
! disply({x7 +x2 1000, x7 ~x2 4 d1] —~ Ji2 = S0
- > minimize(z,pembatas,NONNEGATIVE);
L= 50,dHE 0 N2 0
iy _ - .
> Tahap II
>
- > xestart;
¢ > with(simplex) : .
¢ > pembatas:={x1+x2<=1000,x1—x2=50,—2*x1+3*x2+d21—d22=0};
: [wmhﬂaﬂz{xi+x2£IOOQx!—x2=5Q—2x/+3x2+wﬂ!_c02=01
; > zi=d21l+d22;

T 777 L

disply (pembatas) ;

disply({x/ +x2 <1000, x] - x2 = 50,207 + 352+ 2] - 22 =0 i)

minimize(z,pembatas,NONNEGATIVE);
' h&l=0¢02=&x2:l&hﬂzﬂ$0}

Penyelesaian PLMO dengan Metode LGP




.ampiran

LAMPIRAN 3
Tahap T
restart;

with {(sinplex) :
pembatas :={x2<=2, x;<~,,x2kd1> 5},

7
L]
N
14
b
ANy

A

=
ey

- pembatus = {x2 <2 03
i |
o=l
disply (pembatag) ;
disply({x222,x3£3,5<x2+d1})
minimize {z, pembatas, NONNEGATIVE) ;
{403 =0,x2 =2,/ =3}
Tahap IT

restart;
‘with(simplex):
pembatas:={x2<=2,x3<=3,x2>=2 , -x1-x2+d2>=4} ;

pembatas = {x2S2 033 2502 45 ~x) - 02+ d2)
z:=d2;

disply (pembatas) ;

B  dispiy{{x2<2,x3<3,2<x2 4<—x/ —x2+d2})
- minimize (z,pembatas, NONNEGATIVE) ; '

W X3=0,x2=2,57=0,d2=6)
Tahap IIT

restart;
with (simplex) :

pembatas:={x2<=2,x3<=3,x2>=2 -x1-x2>=-4,x3+d3>=3};

pemhutay \7x7\ <3,2502, - 5 -x) - x2, 3553 R

z:=d3;

disply (pembatas) ;

disply( {x2 €2, x3<3,2<02, -4 </ =12, 35 x3+d3))

minimize (z,pembatas, NONNEGATIVE) ; _
frl=0,d3=0,x2=2,x3=3}
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